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Select the equation that would Select the equation that would
result in the line on the graph result in the line on the graph
Py as shown p as shown
1 1
a y=-237x—-15 a y=0.83z+15
. b y=213z—-15 ) b y=-067z—1.5
C y =163z C y=-167z—-15
d y =237z d y=-117z+15
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v ® e y=0.13z ‘ e y=233z-15
f 4 =-0.1250011517871129 f y = 0.83z
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Select the equation that would Select the equation that would
result in the line on the graph result in the line on the graph
i as shown p as shown
1 1
a y=-1.499996544646621 a y=-1222z+15
- b y = 0.5z . b y=-0.722
C y=-05z-15 C y=228x+15
d y=-1lzx—-15 d y =0.78z
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v > e y=352-15 \ € y = —0.7777788015885447
f y =15z f y=-1222-15
6

Select the equation that would
result in the line on the graph

Select the equation that would
result in the line on the graph

i as shown i as shown
1 1
/ a y=2z-15 da y=157z+15
] / b y =25z ] b y=-143z+15
c y=2z+15 c y =057z +15
. . d , = —2.4999884821819354 ) " d y =207z + 15
R ° e y = 4.5z R e y = 0.57z
f y =3z f y=-0571429229592636
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